
TRIDICULOUS! SOLUTION 

This puzzle is solved the same way as Old 
Shackles. The main difference is that the 
triangle must be positioned precisely. Here’s 
how: Start by holding puzzle as shown in 
drawing at right.  One hand should be slightly 
higher than the other (approx. 45 degrees).  
Enough out-ward pressure should be exerted 
to keep the puzzle taut.  Twist your top hand 
away from you and downward (at the same 
time), allowing the triangle to sit at the center 
of the puzzle. The triangle then needs to be 
rotated into position as shown below, allowing 
it to drop down into the center for removal. 

 

 
REASSEMBLY: Hold the puzzle as shown above. Keeping the W shape, turn upside down (so it 
looks like an M) and open.  
 
 
 


